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2020 &£ 6 H
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.036 0.004 &
LA i 1.512 0.000 - 0.333 0.112 =
/L4, (HCI) 4,545 0.038-0.172 0.122 =
mIbE (HF) 0.306 0.007 - 0.068 0.040 =
— &b (SO2) 15.147 0.001 - 5.792 2.161 =
—4&bi% (CO) 7.578 0.002 - 0.144 0.045 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.436 - 11.172 2.502 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.007 0.004 &
LA 0.756 0.009 - 0.263 0.112 =
#F/bE (HCI) 0.756 0.080 - 0.147 0.122 s
wAbE (HF) 0.072 0.028 - 0.046 0.040 =
— &b (SO2) 3.789 1.739 - 2.482 2.162 =
—&Ei% (CO) 3.789 0.015 - 0.094 0.046 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.136 - 4.320 2.502 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0059 &
IR R g ) 7.575 x 10°° <6.455 x 1020 &
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2020 &£ 6 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.227 0.098 &
LA i 1.512 0.005 - 0.255 0.089 =
/L4, (HCI) 4,545 0.008 - 0.132 0.083 =
mIbE (HF) 0.306 0.000 - 0.083 0.038 s
— &b (SO2) 15.147 0.001 - 4.042 1.707 =
—4&bi% (CO) 7.578 0.000 - 0.253 0.069 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.819 - 7.969 2.679 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.009 - 0.125 0.098 &
LA 0.756 0.015 - 0.195 0.086 =
/L4, (HCD 0.756 0.046 - 0.108 0.083 =
wAbE (HF) 0.072 0.030 - 0.044 0.038 =
— &b (SO2) 3.789 1.377 - 2.149 1.709 =
—&Ei% (CO) 3.789 0.028 - 0.112 0.068 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.497 - 4.684 2.710 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.005 &
IR R g ) 7.575 x 10°° <5.668 x 1020 &
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2020 &£ 6 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(DA 2.277 0.007 - 0.107 0.014 &
LA i 1.512 0.006 - 0.364 0.046 =
/L4, (HCI) 4,545 0.001 - 0.129 0.071 =
mIbE (HF) 0.306 0.001 - 0.058 0.032 s
— &b (SO2) 15.147 0.005 - 5.664 1.850 =
—4& kbR (CO) 7.578 0.004 - 0.369 0.079 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.503 - 5.737 1.520 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.010 - 0.022 0.014 &
HEA T 0.756 0.015 - 0.104 0.046 =
#F/bE (HCI) 0.756 0.017 - 0.100 0.071 s
wAbE (HF) 0.072 0.021 - 0.039 0.032 s
— &b (SO2) 3.789 1.675 - 2.079 1.853 =
—&Ei% (CO) 3.789 0.042 - 0.112 0.079 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.736 - 3.059 1.540 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575 x 107 <5.663 x 1020 &
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